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SSC GD 2022-23

12 spherical balls of radius 10 cm are dropped in a bucket that 1s full of water up to

the brim. The water that flowed out 1s collected 1n a cylindrical jar of radius 20 cm.

What 1s the height (in cm) of water 1n the jar? (Take Tt=22/7)
10 9T 5531 T 12 MATRR el hi Ueh dTeet § TR SITAT 8 ST 39 doh 9T 9 98 Bidl
g SITEL T g O ol 20 THT ST o Toh Sie=Toh R ST H Tehst (R ST &) df STH

UTHT T TS (T ) T4 82 (TT= 22/7 AiN9)

a) 45
b) 32
c) 40
d) 18




SSC GD 2022-23

The difference between the compound interest and the simple interest on a certain

sum at 8% per annum for 2 years i1s ¥144. What is the amount (in ¥)?

T Htera TR W 8% Uid aw sh G ¥ 2 aul o ot <Ishalg ST 3R |G ST o o9
T A 144 T | AT T (TG H) T 22

a) 20,500
b) 24,500
c) 40,000
d) 22,500




SSC GD 2022-23

After applying successive discounts of 10% and 5% on the marked price of an
article, 1t was sold ¥3,420. Find the marked price of the article.

Teh & o Ffehd Hd W 10% 3 5% hl shiHeh D T o o1e, I 3,420 TFF H o=
STTAT 2| 1 S =T 3tfehd 7o 1 hIfSY

a) %5,000
b) #4,400
c) %6,000
d) 4,000




SSC GD 2022-23

The sum of two numbers m and n 1s 84 (m > n) and their difference 1s 6. What 1s the

ratio of the two numbers?

31 HEATHT m 3T n 3T AN 84 (m> n) § I ITHT S 6 21 ST SEATHT hl ST R
37

a) 4:3
b) 17:15
c) 9:8
d) 15:13




SSC GD 2022-23

Soni and Gita together can complete a job 1in 8 h and Gita alone can complete the
job 1n 12 h. In how many hours can Soni alone complete the job?
G- ST I ok A1 Uk 1 shl § ©IS H I T Hehdll & 31 ITAT 3okt 1 bl 12 6 H

I L HeRlT 8| T AT STohei! 36 i ol fohe B¢ H I L Hahcl! &2

a) 48
b) 12
YRz
d) 14




SSC GD 2022-23

A can do certain piece of work 1n 20 days. B 1s 25% more efficient than A, and C 1s
20% more efficient than B. A and C work together for 5 days. B alone will complete

the remaining work 1n:

A Torefy &l R 20 T § SR "ehdT R1 B, A 8 25% 371eh 287 @ 3T C, B © 20% 31k
387 2l A 3R C fretert 5 1T o ol 3hitd 21 a1 B 37kl 19 hd ol foh foatl o g
FHATT?

a) 9 days
b) 8 days
c) 6 days
d) 5 days




SSC GD 2022-23

A trader sells an 1tem for 805 after offering a discount of 12.5% on 1ts marked
price. Had he not offered the discount, he would have earned a profit of 15%. What
1s the cost price (in ) of the item?

Teh SATI ToRet I 3hl 3o 3ffohd 7o W 12.5% shi B 3R 805 T H si=idT 2l Ala
36 T & al BIT, 1 IH 15% T ATH BIATl 1 & 1 567 T (T9 H) T 22

a) 780
b) 700
c) 800
d) 750




SSC GD 2022-23

P sold a lamp to Q at a profit of 20%. Later, Q sold the lamp to P at a profit of 30%,
thereby making a profit of £108. How much (in ) did P pay originally for the lamp?
P Teh &F Q Tl 20% oh AT T S=idT 21 1€ H, Q AT &l P hl 30% oh oATH T o< 2T 2,
ST 3/ 108 TR 31 AT BT &l T P AT oh 17T 7eT &9 © fehc T (B0 H) W el
37

R
b) 330
c) 320
d) 280




SSC GD 2022-23

A number 1s decreased by 25% and then increased by 25%. The net percentage

increase or decrease 1s:

Ueh ST 1 25% shi T 3ht STt & ST 25% Y g <l STt 81 et Tiawrd g 2

T AT =2

a) 2.5% decrease
b) 6 1/4% decrease
c) 3 2/3% increase

d) 4% decrease




SSC GD 2022-23

The ratio of the incomes of A and B 1s 4 : 5 and the ratio of their expenditures 1s 2 :
3. If A and B saves ¥7,200 and 6,000, respectively, then the income (in ¥) of A 1is:
A SR B o1 3T 1 AT 4 : 5 € I 3ok o3 o1 AT 2 : 3 81 AT A 3R B SHA:
7,200 TG 3T 6,000 TG T s=d A 8, T A ohl 3T (T H) Tora1 B2

a) 19,200
b) 20,000
c) 24,000
d) 18,000
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